
1

 
 Assembly Instructions

Steel Shelving 
Model Nos. AS1279, AS1879, AS2479, AS3679 

STEP 1

PARTS:
PARTES:
PIÈCES:

SHELF
ESTANTE
ÉTAGÈRE

POST
POSTE
MONTANT

POST
POSTE
MONTANT

SIDE SWAY  
BRACE

SOPORTE 
ANTIOSCILANTE 
LATERAL

CONTREVENTEMENT 
LATÉRAL

SIDE SWAY BRACE
SOPORTE ANTIOSCILANTE LATERAL
CONTREVENTEMENT LATÉRAL

BACK SWAY BRACE

SOPORTE ANTIOSCILANTE 
TRASERO

CONTREVENTEMENT 
ARRIÈRE

SHELF CLIP
SUJETADOR DE ESTANTE
ATTACHE D'ÉTAGÈRE

1/4-20 x 5/8 BOLT
PERNO DE 1/4-20 x 5/8
BOULON 1/4-20 x 5/8

Attach each side sway brace to 2 posts.

Instale cada soporte antioscilante en 2 postes.

Attacher chaque contreventement latéral à 2 montants.

TOOLS:
HERRAMIENTAS:
OUTILS:

Start Count Here
Comience la 
cuenta aquí

Commencer à 
compter ici

33" (23 Holes)
33 pulg. (23 orificios)

33 po (83,8 cm) (23 trous)

“B” (See Chart)
“B” (ver el cuadro)
“B” (voir tableau)

Depth of Shelves
Profundidad de los estantes

Profondeur des étagères
“B”

No. of Holes
No. de orificios
Nbre de trous

12" 21" 15

18" 27" 19

24" 27" 19

30" 27" 19

1/4-20 NUT
TUERCA DE 1/4-20
ÉCROU 1/4-20

7/16 SOCKET ON RATCHET 
TRINQUETE CON CASQUILLO  

DE 7/16 PULG.
DOUILLE DE 7/16 SUR CLIQUET

PHILLIPS SCREWDRIVER
DESTORNILLADOR PHILLIPS

TOURNEVIS PHILLIPS

Instrucciones de ensamblaje
Estantería metálica 
Modelo No. AS1279, AS1879, AS2479 & AS3679

Instructions d’assemblage
Étagère en acier
Modèle n° AS1279, AS1879, AS2479 & AS3679

Akro-Mils prides itself in providing  
your best value in storage, organization and material 

handling products. If you have any questions, comments 
or need assistance with this product please call our  

toll-free service number: 

800-863-5817
Service representatives are available weekdays from 8 

a.m. to 5 p.m. Eastern Time to assist you (outside normal 
business hours, leave a message and we’ll get back to you).



2 3

4

5 6

Akro-Mils, 1293 South Main St., Akron, Ohio 44301 • 800-253-2467 • Fax: 330-761-6348 • akro-mils.com • sales@akro-mils.com

©2015 Akro-Mils/Myers Industries, Inc.  #AKM230  AS1279/AS1879/AS2479/AS3679-010115  01/15

STEP 5

1) STAND UP UNIT AND MAKE SURE ALL BOLTS ARE
TIGHTENED UP.

STEP 6

1) LOCATE CLIPS EVENLY TROUGHOUT THE POST 
IN ORDER TO LOCATE YOUR SHELF SPACING.
2) SET THE SHELVES INTO THE CLIPS.

BACK

STEP 2

BOTTOM SHELF

STEP 3

1) INSERT CLIP INTO THE FIRST TWO BOTTOM SLOTS OF
THE POST.
2) INSERT THE SHELF INTO THE CLIP.

STEP 4

TOP SHELF

1) INSERT CLIP INTO THE TOP AND LAST SLOT OF THE 
POST. 
2) INSERT THE SHELF INTO THE CLIP.

Attach back sway 
braces to 2 posts.

Instale los 
soportes 
antioscilantes 
traseros en 2 
postes.

Attacher les 
contreventements 
arrière à 2 
montants.

Insert clip into the first two 
bottom slots in each post. 
Slide shelf down onto the clip.

Insert clip over the top and into the 
last slots in each post. Slide shelf 
down onto the clip.

Inserte la presilla sobre la parte superior, 
dentro de las últimas ranuras de cada poste. 
Baje el estante sobre la presilla.

Insérer une attache par le haut et dans les 
dernières rainures de chaque montant. 
Enfiler l'étagère sur l'attache par le dessus.

Pare la unidad y asegúrese de que 
todos los pernos estén apretados.

Mettre le meuble debout et vérifier 
le bon serrage de tous les boulons.

Instale las presillas restantes en los 
postes a distancias regulares, usando 
4 presillas por estante. Baje los 
estantes sobre las presillas.

Poser les attaches restantes en les 
espaçant régulièrement sur la longueur 
des poteaux, en comptant 4 attaches 
par étagère. Poser les étagères sur les 
attaches par le dessus.

Stand up unit and 
make sure all bolts 
are tightened up.

Attach the remaining shelf 
clips spaced evenly 
throughout the posts, 4 
clips per shelf. Slide the 
shelves down onto the clips.

Attaching Multiple Units Together
Cómo unir entre sí múltiples unidades
Fixation de plusieurs armoires ensemble

Se pueden unir entre sí dos 
postes en ángulo con 
tuercas y pernos de 1/4-20 
x 5/8 para crear postes en 
ángulo dobles.

Les montants à cornière 
double sont réalisés par la 
fixation de deux montants 
simples ensemble avec 
deux boulons et écrous de 
1/4-20 x 5/8.

Back to back units are built like single units. The common braces are installed on the 
inside of one of the units, with the bolts going through both rear posts of the back to 
back units.

Las unidades unidas por atrás se ensamblan como unidades sencillas. Los soportes 
compartidos se instalan en el interior de una de las unidades y los pernos atraviesan 
ambos postes posteriores de las unidades unidas por atrás.

Les modèles dos-à-dos s'assemblent en tant que modèle simple. Les contreventements 
communs sont placés à l'intérieur de l'une des armoires avec les boulons traversant les 
deux montants arrière des armoires dos-à-dos.

Back to back units share common back 
sway brace

Las unidades unidas por atrás comparten 
un soporte basculante trasero

Les modèles dos-à-dos partagent un 
contreventement commun

Start Count Here
Comience la cuenta aquí
Commencer à compter ici

343/8" (23 Holes)
343/8" pulg. (23 orificios)

343/8" po (87,3 cm) (23 trous)

27" (19 Holes)
27" pulg. (19 orificios)

27" po (68,6 cm) (19 trous)

Inserte una presilla en las primeras dos 
ranuras inferiores de cada poste. Baje el 
estante sobre la presilla.

Insérer l'attache dans les deux premières 
rainures de chaque montant. Enfiler l'étagère 
sur l'attache par le dessus.

Double Angle Posts are made by attaching two 
Single Angle Posts together with two 1/4-20 x 5/8 
bolts and nuts.


